Test Booklet Code & Serial No.

YYulAHT IS I FHHF C

Paper-I11
ECONOMICS

Signature and Name of Invigilator Seat No.
1. (Signature) .....cccccevvvvevvvvvieeeeeeeeeeeeeeenn. (In figures as in Admit Card)
(NAIE) v SEAt NO. ..eeeiiiiiiiiee e
2. (Signature) .....ccccceeeeeeeecnieeeeee e, (In words)
(NAME) .o OMR Sheet No.

APR-11217

Time Allowed : 1Y4 Hours]

(To be filled by the Candidate)
[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

10.

12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(i) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Economics

Paper II

AL ITET

gyutrent 11

Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.

GOl : A TRAULEhd THY TR (50) SgOAel U ol ofRd. Yo TR g (2)

Time Allowed : 75 Minutes]

U 3Rd. @d U Wi

[Maximum Marks :

100

1. When exchange rate changes from
$1 = Rs. 65.22 to $1 = Rs. 67.27 due
to market forces, it is called as :

(A) Devaluation of Rupee
(B) Revaluation of Rupee
(C) Upvaluation of Rupee
(D) Depreciation of Rupee
2.  Match the following :
A’
(@) Product Cycle Hypothesis
(b) Spillover Theory
(c) Availability Theory
(d) Price-Specie Flow Mechanism
B’
(z) David Hume
(z1) Vernon
(zii) Linder
(tv) Kravis
Codes :
(@ () ) (@
A @) Gu)  Gv) @)
B) @ @ (v) (@)
C© @) @ () @)
D) @ @Gy @ G)

1.

Siegl fafma g2 $1 = T 65.22 984

$1 =3 67.27 3791 ANR FAUHes TGl
a@ W .................. aqﬁ w.

(A) TUTE ST
(B) TUaTE YAHEI
(C) TN HEaqedd
(D) @UI=n HoI=™
e Seedl
A’
(a) %] < TRERCT
(b) Tr=sau fagr
(¢) U= fagm=
(d) forma-ifees o Jame o
B’
(i) Sf=e &
(i) =EA
(iii) ferex
(iv) Sl
i
@ B © @@
(A) (@) @) (Gv) @)
B) @ @ (v) (@)
C) Gy @ (v) (@)
D) Gv) @) @ (i1)
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Statement I :

According to Adam Smith
International Trade takes place on
the basis of comparative advantage.

Statement 1II :

The principle of absolute advantage
is at the focal point of David
Ricardo’s theory of International
Trade.

(A) Statement (I) is incorrect and

statement (II) is correct

(B) Statement (I) is correct and

statement (II) is incorrect

(C) Both the statements (I) and (IT)

are correct

(D) Both the statements (I) and (IT)

are incorrect

One limitation of absorption
approach to Balance of Payments

adjustment is :
(A) It assumes a constant income

(B) It assumes a constant terms of

trade

(C) It assumes a constant

aggregate expenditure

D) It assumes nominal

devaluation of currency
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faem= 1

fen fHu=a #d AW SUR

ArcAfTeh R emenfia STHal.
faam= 11

o ~.

Had A= dxd efege famrei=an

A AMR fagraren sgeart

3TTE.

(A) fagm (1) 5= 3R enfor faem (11)
TSR 3T’

(B) faum (I) sRieR 21g Sfor faem (11)
TH 38

(C) faum (1) snfor faam (1) St sis
3Ted

(D) fa&m (1) enfor faem (1) =1 ==
3Tea

FAERATAT IR0 g Teh

(A) feer 3= Tfed XA o

(B) SHURIN R T8eam Tfed X
e

(C) fer wHw wd Tfed =”en =R

(D) G A= THAE T Tfed

TReA 318




According to Vernon, which is the
source of comparative advantage for

developing countries ?

(A) Cheap labour combined with

imported capital

(B) Imported capital combined with

innovation

(C) Innovation combined with

cheap labour

(D) Cheap labour combined with
high technology adopted

through imitation

The working of Indian monetary

system was studied by ................... .
(A) Urjit Patel Committee, 2010
(B) R. Gandhi Committee, 2005
(C) Chakravorty Committee, 1985

(D) Narsimham Committee, 1980

APR -1121711—C

A=A Ha TR &gl S9mEel drefen

AT G hIoT STHal 2

(A) AR 9ieaadg & 9

(B) To9adIdE 3TEd diSdd

(C) W oHYE Taya

(D) STIHTOTAT HIEIHA  Eheledl

3= THEE W 99

RATdIal I SHaLI=I]  hTHHR TSI

(A) 3fSa 92 gfadt, 2010
(B) 3. el gfuet, 2005
(C) =shad! AT, 1985

(D) RfEgq Gffdt, 1980
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SAFTA stands for ......ccoevvuueen.... .

(A) South Asian Foreign Trade

Association

(B) South Asian Free Trade

Association

(C) South African Free Trade

Association

(D) South Asian Financial

Transaction Association

Annual percentage growth rate of
India’s GDP in July 2014, July 2015

and July 2016 was ............ y eereenenes and

................ respectively.

(A) 7.1, 7.5 and 6.7

(B) 6.7, 7.1 and 7.5

(C) 6.7, 75 and 7.1

(D) 7.5, 7.1 and 6.7
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‘SAFTA’ @cileldeh! & <gifaar ?

(A) 9R3Y THSH HIHA ¢S SHHITEH

(B) 98Y THSH Wl ¢S THETEH

(C) WY wfpeT Wi ¥ TN

(D) I8Y TR HEARAISTA ZeieRT

TG

YRAr GDP A eTifefe ggiay ol

2014, S 2015 W01 FA 2016 HEA

(A) 7.1, 7.5 301 6.7
(B) 6.7, 7.1 o1 7.5
(C) 6.7, 7.5 o1 7.1

D) 7.5, 7.1 M0 6.7




Which one of the following
statements is correct with respect

to India’s Foreign Trade Policy

2015-20 ?

(I) Export target set for 2019-20 at

US and 900 billion

(IT) India’s share in world export to
be raised from 2 percent to 3.5

percent

(III)Foreign Trade Policy to be
alligned to make in India,

Digital India and Skill India

(IV) Foreign Trade Policy will be

reviewed annually
(A) (I), (II) and (III) are correct
(B) (II), (III) and (IV) are correct
(C) (I), (IIT) and (IV) are correct

(D) (I), (II) and (IV) are correct
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ETATTdeh! hIvd Teh g™ 9Rar=
TRl =R €Ru 2015-20 =4 S
FgH AT ?

I) ad 2019-20 HRar FAd= @

o 2 (\i‘\

(I1) WA= Srifaes fafddae feemm 2

b 9%d 3.5 Hh TAd el

(I1T) faelt =mr ¥/u e =9 few,

faSll o M

fefSea sfean snfor fera sfean =

Sreul

(IV) foesht =R Rom=n aftes sTerEn
oy

(A) (D), (II) =7for (III) 3T 3Ted
(B) (II), (III) 37for (IV) eT=eh 3Ted
(C) (I), (IIT) 3mfor (IV) 3Teh TRd

(D) (D), (II) 7o (IV) 7= e
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10. FRBM is the abbreviation of :

11.

(A) Fiscal Responsibility and

Budget Management

(B) Fiscal Regulation and Budget

Management

(C) Fiscal Revaluation and Budget

Management

(D) Fiscal Representation and

Budget Management

Which of the following is not the

member of G-7 group of countries ?
(@) USA

(12) Russia

(zzz) France

(lv) Japan

(A) (@)

B) ©

(C) ()

D) @)
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10. FRBM @ 0 &9 &M@ ?

11.

(A) frera Reifafafead ofs s

HFsTHe

(B) TFerd TIoRM 3fe aoie HAsTHe

(C) Trene R 3fe snie Histe

(D) e fOERE ofe auie TAsHe

TEAeR! ShIvl <31 G-7 TR TR
T

@) e

(i) femm

@@ii) W d

(tv) ST

(A) @)

B) @

(C) Gv)

D) @)




12.

13.

14.

Nobel Prize in Economics for the
year 2016 has been given to Oliver
Hart and Bengt Holmstrom for their

contribution to ................... .
(A)
(B)
©)

Imperfect competition
Contract theory

Limits of state intervention

under market economy

(D) New horizon of game theory

Micro Units Development and
Refinance Agency (MUDRA) Bank
was launched by Prime Minister

[07's SOUURURURN .

(A) 8th April, 2015

(B) 14th April, 2015

(C) 2nd October, 2015

(D) 14th November, 2015

In descriptive statistics, we study :

(A) The description of decision

making process

(B) The methods of organising,
displaying and describing

data

(C) How to describe the probability

distribution

(D) Research planning

12.

13.

14.
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2016 =1 et VM Aeler TRaATbeh
3ffeteet B ST S BIeHErH a1 =

ANEHEgE et T,
(A) sl T
(B) R fogr

(C) ITSTRYTNG STefegasdd YMEhg
TN TS

(D) Wes Tagrar=n =et fafas

Hed Teeewh o 9 qAfda iyt
(F51) o dauemT TR
feasht g& =l

(A) 8 U, 2015

(B) 14 witd, 2015

(C) 2 R, 2015

(D) 14 TR, 2015

VAT WA HES S0 W Teish!
HIOAT STe= A Ll 2

A) frofa wfwa=s 9o
(B) THeh wyfed, wefdfd for auf=

FLIMEES! ATATIIT IR Tgd

(C) Fureydr faaror semyeht Sofema
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15.

16.

17.

Base year quantities weights are

used in :

(A) Laspeyre’s method
(B) Paasche’s method
(C) Fisher’s ideal method
(D) Consumers’ index

The overall goodness of fit of
the regression model is measured

by oo, .

(A) Coefficient of variation

(B) Coefficient of determination
(C) Coefficient of correlation
(D) Coefficient of association

If “time” is used as the independent
variable in a simple linear regression
model, then which of the following

assumptions could be violated ?

(A) There is a linear relationship
between the independent and

dependent variables

(B) The residual variation is the

same for all fitted values of Y

(C) The residuals are normally

distributed
D)

Successive observations of the

dependent variable are

uncorrelated

15.

16.

17.
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3MYR T8 YR TRATY WeAeTteh! shiore
TSdid SUARTT STO0A o ?

(A) HUSTE Ugd

(B) WiwES Hgd

(C) TR emeel 9sa

(D) ureeh e

THISAU YIHAR TS FHdehl

(goodness of fit)
ST

(A) fo=ror TumeR
(B) TH&iRor qomen
(C) TREaY O
(D) WE=d Tl

e T gfqeE e gfaaee e’ @

TS I STANE ST SIeierueh

VA Tfed 1 BvATET YERIAT 38 ?

(A) a3 3T STacfad =t il o
T TR

(B) smafyrse fa=ror Y =1 &d sramaferd

SIS B

(C) TafyTer™ faaiur o= We e

(D) Aacfad Ie= IuuR e

Hegsfed el
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18. Index numbers are expressed in : | 18- fderieh Teiierosh! hemeaT gR Forert
FOIT A ?
(A) Ratios
(A) FHIT
(B) Squares
(B) =
(C) Percentages ©) -
(D) Combination (D) aga%ﬁw
19. Which of the following is not based | 19. welierish! HI0A HUT o= 0=
on all the observations ? YR HL0I A ?IE:T ?
(A) Arithmetic Mean (AM) (A) T Ae
(B) Geometric Mean (GM) (B) Q{&I?ﬁ'q qeg
(C) Harmonic Mean (HM) (C) wHaRl A&
(D) Mode (D) SgoiE
20. If all the values are of equal | 20. TE¥ eIl THH Hewd SUAM STTAH
importance, the index numbers are FrTieRTen TEieie HE TRUA 2
called :
(A) wifq
(A) Weighted
(B) 31wifa
(B) Unweighted
(C) Composite (C) Wi
(D) Value Index (D) Hea faderen
11 [P.T.O.



21.

22.

Rationality principle of revealed
preference indicates .................... .

(A) Maximization of satisfaction
and preference to bigger over
smaller bundle of goods

Maximization of satisfaction
with the same bundle of goods

(B)

©)

Maximisation of satisfaction
despite a decline in the size of
bundle of goods

(D) Maximisation of satisfaction

and preference to smaller over
bigger bundle of goods

Match the following :
A’

(@) Kinked demand curve

(b) Isoquant

(¢) Shift in demand

(d) Upward sloping supply curve
B’

(z) Change in income

(i1) Increasing marginal cost

(zi1) Quantity rigidity

(tv) Convexity and non-intersection

Codes :

(@ & (© (@
A @) Gv) @ @
B) @ O @) (@)
© Gv) G @) @
M) G Gv)y @ GD)

21.

22.

APR -1121711—C

(A) FHIEME HETHIRT S0 =[FdH-
oSl 3ifeeh %] 9EE We=

(B) HHIHHTE HE<HIsRL0T STI0T 1= o
TR WE

(C) TEERIdtel feeafdiere!

HEHIRL

(D) FHEIYMTE HeaHen o] AT 37fereh-
QS =[AdH 9] FHEM eI
Sire S[esdl
A’
(@) ISR HETU ook
(b) HHICIRT &k
(c) ATTOE TATR
(d) IEAMH IS ek
B’
(1) 3T d§qcd
(i) Sreal faa T
(i) TTHEAT ARG

(fv) STadghal o1 TS

EICIEIE]

Wichdich :

@ B (© (@
A @) Gv) @ @
B @ O () ()
C) @) Gu) @ O
D) @) Gv) @) (i2)
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23.

24.

What can you say about an
indifference curve that is positively
sloping ?

(A)

Both the commodities are

wanted commodities

(B)

One commodity is wanted and

the other is unwanted

(C) One of the commodities is

neutral
(D)

Both the commodities are

unwanted commodities

If the commodities are perfect
complements of each other, the
corresponding indifference curves

would be :
(A) Positively sloping straight lines
(B) Negatively sloping curves

(C) Negatively sloping straight

lines

(D) L shaped straight lines

23.

24.
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TR T I I SANET A R TR

Hg faum s ?

(A) I a&] difed 9% Fada

(B) T a%] dfed 9 gHI sTafed 3

(C) Wk o&] dexd 3T

(D) Sl sTafed a% STeda

(A) &9 JARME G IO

(B) =®U 3IA=1 dsh

(C) RO A=l T I

(D) L SThR= e I

13
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25. Who were the main proponents of

26.

new welfare economics ?
(A) Hicks — Allen — Sen

(B) Allen — Scitovszky —

Samuelson
(C) Hicks — Kaldor — Scitovszky
(D) Sen —Samuelson — Kaldor
Identify the incorrect statement :

(1) When TR is maximum, the
corresponding MR is equal to

Zero

(iz) When TR is maximum, the

corresponding Ed = 1

(zi1) When TR is rising and positive,
the Ed > 1

(zv) When TR is rising and positive,
the Ed < 1

(A) @)
(B) ()
(C) @)
D) @)

APR -1121711—C

25. T HATA SALAVMSTE THE TR

0T A ?

(A) fog — 3faT — o9

o N

(B) 3fed — fadiegeent — HRgTeEA

o N

fqaIceeh]

(C) fe/g — &aER —

(D) T — IYTAIT — HASK

26. TEIdUsh! Tehrd faum sfieen :

(i) Siegl T Hated 3T9d dog] qequiTeh
qu I ST

(if) STegT U1 Hal=d 3THd deal qQIonTeh
AT Safaehdl = 1 3/9d

(111) 8T W1 & d1ed 3T9d deal HEToft
dafaehdal > 1 3T9d

(1v) STeg1 TYT ¥ o oed 3T9d degl Aol
Adfaehdl < 1 39d

(A) (@)
(B) ()
©) @)

D) @
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27.

28.

What can you say about these
statements ?

(z) All Giffen goods are inferior
goods.

(zz) All inferior goods are Giffen
goods.

Both (2)
statement (ii) are incorrect

statement and

(A)

(B) Statement () is correct and

statement (i7) is incorrect

(C) Statement (i) is incorrect and

statement (i7) is correct
Both (2)
statement (ii) are correct

(D) statement and

In the growth literature sigma
convergence refers to :

27.

28.
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Trelia fagHEed @l ®@ 9 ?

(i) e fTha % a1 Mepte a%q /am.
(i) &d Tepse g 41 fiTeh o STera.

(A) faum ) 9 faum (i) & <=1 =%
e

B) faum () SR 9 faeam (i) I
S

(C) faum () =% 9 faam (i) SR
e

(D) faum (i) 3 faum (i) & =T SR
3Ted

s1fygfg wnfecra farmm stfirRomen e
WUt hIMIN STl ?

(A) Poor economies grow faster (A) e ATHTE SiHa TTHTEIYEN
than rich economies At S fasfad g
(B) Reduction in the dispersion of (B) We®hS USIT=AT Icq=1 EdIdd
income levels across countries HTEHIUT FE Tl
(C) Increase in the dispersion of (C) WAHE TEIT=AT Ieq= T
income levels across countries T AT &1
(D) Rich economies grow faster D) 3:[\ RSN 3:[\ &
. Afyer S fasfad g«
than poor economies .
29. Ratchet effect relates to : =, a2 ad
(A) Life-cycle hypothesis (A) SeeF TREe
(B) Permanent income hypothesis (B) TRl 1@ Remes
(C) Relative income hypothesis (C) Tmey dﬂﬂljﬂlﬁ TR
(D) Absolute income hypothesis (D) FrAY 3= ufkeheu
15 [P.T.O.



30.

31.

In permanent income hypothesis,
transitional income has :

(A) Positive and high correlation

with permanent income

Positive and low correlation

(B)

with permanent income

(C) Zero correlation with permanent

income

(D)

Negative and high correlation
with permanent income

Match the following :
Statement I

(a) Inventory approach to money
demand

(b) Adaptive expectation

(¢c) Lower turning point

(d) Life-cycle hypothesis
Statement II

(1) Edmund Felds

(i1) John Hicks

(zi1) Franco Modigliani

(zv) William Baumol

Codes :

(@ B (© (@
A @ (i) @i)  (v)
B G O @) ()
© @ O (1) ()
D) @ O () )

APR -1121711—C

30. TR A URehead YA 3cq—]

TTeeish! wd e ?
(A) TR 3 Ik Hedad o
YFTCHS 30T S=d

(B) TR T sReRiel Heded U
e

(C) T T SeRie HeHaem o
e A

(D) TRt 3T SR FeHaY U 7o
HUMCHE 30T 3=

31. Siedl Seodl

faam 1
(@) TR wRTOiET el gfesH

(b) THAS TS

(c) el Jee fog
(d) SteA-=sh qfehed

faem 11
(i) TSHE Theed
(i) S feem
(iii) Theh! HISIaASTH
Gv) Taferam sisata
Hichdieh :

@ ) © @
A G G G Gv)
B) G @ G G
©) G) @ G (G
D G @ () G
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32.

33.

Select the right answer from the
options A to D given below :

Assertion (S) :

Long-run Phillips curve shows no
trade-off between inflation and
unemployment.

Reasoning (R) :

This is because individuals have
rational expectations regarding
future inflation.

(A) (S) is correct and (R) is correct
(B) (S)is correct and (R) is incorrect
(C) (S)isincorrect and (R) is correct

(D) (S) is incorrect and (R) is
incorrect

According to Cambridge version of
demand for money, velocity of
money circulation will be constant
if :

(A) Money supply and nominal
in equal

income change

proportion

(B) Money supply increases at a
higher rate than nominal

income

(C) Money supply increases at a

lower rate than nominal income

(D) Money supply has no relation

with nominal income

32.

33.
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AU A O D JaEHET A W
IREEIEE:

gfdureT (S) ¢

qreehTed fhfaed ok HEIrewdt  SIfor
SRS A HHHed THedrd geifad.
RIESCICHNE

el SHILOT Tl RTRehcitelreld SZekil ferohl
TS YT ST

(A) (S) &R 1 (R) SR

(B) (S) TRER &M (R) =%

(C) (S) % Mo (R) SR
(D) (S) 9% =1 (R) 9%
Tomardt AN RS ST AR
werie derer A fer wEe R
(A) e e enfor a3 AT

¢ HYHIONG 3l X

(B) U= A A e Scaw=raal

e SR < AT

(C) U= AT AT A Sca=Tian
I TWH I

(D) T et oo e Seq= A

ey THAH
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34.

35.

36.

Which one of the following is not
part of the classical approach to
determination of output and
employment ?

(A) Say’s law

(B) Wage-price flexibility

(C) Savings-Investment equality
(D) Money wage rigidity

When the population growth rate of
an economy becomes greater than
the achievable economic growth rate,
it is known as ..................... .

(A) Population Explosion
(B) Population Trap
(C) Population Crisis
(D) Population Cross

Make a choice of the correct sequence
given by Karl Marx for development
of society :

(A) Primitive communalism,
Feudalism, Capitalism,
Socialism, Communism

(B)

communalism,
Socialism,

Primitive
Feudalism,
Communism, Capitalism

(C)

Primitive
Socialism,

Feudalism,
communalism,
Capitalism, Communism

(D) Communism, Capitalism,
Socialism, Feudalism, Primitive

communalism

34.

35.

36.
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(A) ‘| = e
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~
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37.

38.

39.

The theory of “Big Push” is
propounded by .......cccceeeeennnnn... .

(A) Arthur Lewis

(B) C. P. Kindelberger
(C) Rosenstein Rodan
(D) Karl Marx

Which one of the following is
important aspects of the concept of

sustainable development ?

(A)

Intragenerational equity and

intergenerational equity

(B) Intergenerational equity and

intragenerational inequity

©)

Intragenerational inequity and

intergenerational inequity

(D)

Intergenerational inequity and

intragenerational equity

Which one of the following is better
measure of degree of income

inequality ?

(A) Kuznet Hypothesis
(B) Gini Coefficient
(C) Poverty Line

(D) Lorenz Curve

37.

38.

39.
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‘qae =T’ fagia
T Hell 3T
(A) 3R <ifow
(B) H. 1. fRSeAa
(C) T TeH
(D) <hrel TR

9MYed foIeRTd Hehoqd ETeiieieh] shIoTd]

T AU Uq MR ?
(A) Toegraia = onfor A fueameta

<

(B) SAeaeie = ST fueiard
3=

(C) Theamaria 1= Sftr ST fyeameial
T

(D) TR Yeameer 3= i fuesnarta
=

Iq TIoHaT ST=AT HIYAE Seiieldeh]
HIUA Th IIH A 3TE ?

(A) HFHS TR
(B) it iR
(C) < I
(D) @RS I
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40. Match the following :

41.

Investment Criteria
(a) Capital turnover ratio
(b) Social marginal productivity
(¢) Reinvestment criterion
(d) Time series criterion
Economists
(@) Dr. A. K. Sen
(i1) Galenson and Leibenstein
(ii)A. E. Kahn and H. B. Chenery
(iv) J. J. Polak and N. S. Buchanan
Codes :

(@ B © @
A @ O @) (i)
B) (i) @) ()
C©) G G @) (i1)
M)  Gv) G G G

“Underdevelped countries are the
slums of the world economy.” This

statement is stated by ................... .
(A) Ragner Nurkse

(B) A. K. Cairncross

(C) Colin Clark

(D) Jadgish Bhagwati

APR -1121711—C

40. e @ren

41.

el Frew
(@) 9ieTd SATEe TONRR
(b) TSR HHIG ScdIgehdl

(c) gTiaevEn ey

(d) & gEen e

arefas
G) = T & T

oo o

NIERIESA!

(i7) Tel=a 9
()T 3. HEA 9 T ot o4
(v)S. 3. ik 9 TA. TH. g9
m M

@ B (© (@
A @ O @) (@)
B) @ @ @) Gv)
© @) Gv) @ G
(00 B €770 BN €772 N €79 B ()
" AfeeRiad Tee g Sfe STefeaed=A]
LU T Egp—.
A TG ol IR
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(D) ST et
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42.

43.

44.

Marginal damages ..................... .

(A) must always be considered in

social marginal cost

(B) must not be considered in social

marginal cost

(C) have nothing to do with social

marginal cost
(D) Are not part of social loss
Which of the following is correct ?

(A) Traditional budgeting focuses

only on goals

(B) Zero based budgeting produces
a single level of appropriation

for an activity

(C) Traditional budget starts with

last year’s funding appropriation
(D) Zero based budgeting does not

consider alternatives

In the context of Government of
India budgets, which type of deficit
is suggested by the formula : Total

Receipts—Total expenditure :
(A) Revenue deficit

(B) Primary deficit

(C) Budget deficit

(D) Fiscal deficit

42.

43.

4
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(A) TSR fadd T JgHl o
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(B) graTteres fogaia ®=iq  swyvr=
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(A) TWRATT SNSRI Jgdid e
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ElRRISEIEISS RGBS Ik
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(A) weHgal 2

(B) WufHeh I
(C) R/ETHE e
(D) TSRS G
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45.

46.

47.

Which one of the following
statements is not laid before
Parliament under F.R.B.M. Act,
2003 ?

Macro-economic Framework

(A)

Statement

(B) Medium Term Fiscal Policy

Statement
(C) Annual Financial Statement
(D) Fiscal Policy Strategy Statement

Imports are taxed but exports are

not taxed under :

(A) Residence principle
(B) Origin principle

(C) Destination principle
(D) Source principle

According to the budget estimate of
2015-16, the external debt of
Government of India was about
of the total public

...........................

(A 1.5%
(B) 2.3%
(C) 3.7%
(D) 4.5%

45.

46.

47.
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(A) THEUALT 3Tfies e faaurgs
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48.

49.

50.

According to the recommendations
of the 12th, 13th and 14th Finance
the

percentage share of states in the

Commissions in India,

total central tax revenue was
....................... respectively.
(A) 30.5%, 32% and 42%
(B) 29.5%, 32% and 42%
(C) 27.5%, 30.5% and 32%
(D) 30.5%, 32% and 45%

Which
exception to Linder’s Spillover
Theory ?

of the following is an

(A) India Exporting Ganesh Idols
(B) China Exporting Ganesh Idols
(C) US Exporting Chrismas Trees
(D) Scotland Exporting Alcohol

Which of the following terms of trade

concept attempts to capture

productivity in the export sector
and import competing sector of a

country ?

(A) Double factoral terms of trade
(B) Gross Barter terms of trade
(C) Net Barter terms of trade

(D) Income terms of trade

48.
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50.
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URAT 121, 13S0 T 14 foxi-
AT RTARETER s Seh=
TeRU Hegdia Usaren feem sty

(A) 30.5%, 32% <01 42%

(B) 29.5%, 32% <01 42%

(C) 27.5%, 30.5% 301 32%

(D) 30.5%, 32% <01 45%
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(A) 9T il e o et i
(B) =1 shild st&rerelt TorT Hf= fraia
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